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Learning Target

I can set up and solve two-step equations.

January 12, 2015

Jun 17-10:14 AM

Two-Step Equations

Solving a two-step equation is just like solving a one-step equation, with more

! The goal

undo or and then undo

is the same: . To solve a two-step equation, we first

or

. Remember, what vou do to one side vou

dotothe "

Practice Examples:

l. 2x+6=28
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7. Tonva had her birthday party at the movies. Itfor pizza an for the movie tickets.

How many friends did Tonya have at her party if she spent(§78
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Check your work!
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TABLE DISCUSSION: How does the order
in which you solve a two-step equation
compare to the order of operations?
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Two-Step Equations:  PRACTICE



Solve the equation. Check your solution.







	1.		2.		3.	

















	4.		5.		6.	

















	7.		8.		9.	

















	10.		11.		12.	













In Exercises 13–15, write an equation. Then solve.

	13.	It costs $4 to enter the fair. Each ride costs $2.50. You have $21.50. How many rides can you go on?







[bookmark: _GoBack]





	14.	The cable company charges a monthly fee of $45. Each movie rental is $1.99. You owe $68.88. How many movies did you rent?











[image: TA: \\Odo\r-drive\msfl7wb01.01\Gr 7 Production\Gr 7 CRB\Gr 7_CR_Chap_02\Gr 7_CR_Chap_02_Art\msfl7_crb_ep_02_001.eps,10/3/2008 10:32:55 AM]	15.	The perimeter of the rectangle is 24 feet. 
What is the width of the rectangle?
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